Edexcel Paper 1H Practice Booklet

20 practice gquestions based on the advance information

Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo

Question 1

4
Which is greater, 3 of 87 g or 14% of 800 g?

\

Lof 8F = 21 ° < ;
3? X \Lo(’&ﬁb-‘wocmbv%

) ia* ¢ - S0 \uhk of 800 =

Thea stake wWhich ig arwker

Question 2

Write 3.8 X 10" as a product of prime factors.

?>.<a>(\0qL = 28 X 10 7«\04’

6
3% % \O

1]
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Question 3

(a) Complete the table of values for y = 2° -2z — 4

(b) On the grid, draw the graph of y = 2* =2z — 4 for values of z from —2 to 3.

L
4

-6

(c) By drawing a suitable straight line, use your graph to find estimates for the solutions of

£ =3z+1=0
~xt—3qIx ¥+ = 0O
+x =S tx -5 so plok

> x* —2x -4 = x-S <’ W= %5
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Question 4

Simplify each of these expressions as far as possible. J O.b = l G I b

(3)5\/ﬂ—8\/ﬁ = SWX'\_\ _ 8“{

(1}

(b) v/34 x /17

1)

Txax@ = 2 x([7Fx )

]

(c) =Tz —3(9 — 22)

i\

~Fx & -3(4-2x)

Question 5

Expand and simplify (z — 3)(z + 10)(z + 3)
Expord sne pair of binowale Hist.

Then (W.rulplﬂ Ye e)c()aN\'.A expresion \3\3 Rre bnird
oinomial .
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Question 6

Work out <8 x 10" ) 4, writing your answer in standard form.

o
|

Question 7
A cuboid has length z cm, width y cm, and height 9 cm.

You are given that 3z + 8 <29 and that 18 — 3y > 12.

Calculate the upper bound for the surface area of the cuboid.

2x +3 £ 29 \8‘33 2 \2
> < 21\ =

> » <7

\Asmﬂ w UQ?Qr MS Q'Df
x o ¥

Surlbace oren =

Qem 630«1

,ld‘“
Fem &.WM QD" 5.
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Question 8

The diagram shows the lengths, in centimetres, of the sides of a right-angled triangle.
Find the value of .

Qﬁ\kaﬁms‘ kheorem => (Q_x + 3>z =) (7( -\)1 = Q—\Tb)z

Now sdue the equokion .
Moke sue o rejeck oy sslrkiong Yok don't moke

Sonde A Hug  contest.
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Question 9

The interior angles of a triangle are p°, ¢°, and 7°.
You are given that p = ¢—12 and r = 2p + 20. & 'Tp\!.S f{\éo r‘ma“al\
Find the mean of p, ¢, and 7. .

(B wvxeu.ssara.

P a,ad r must odd vp o 1O .

Question 10

(a) Write 0.103 as fraction in its simplest form.

SD A =
lek =x = 0. 1030203 -

Thea \00x = 10-3030303...
Gtk 2 = O \O3030)...

o qak N =

(b) A bag contains 330 sweets. The probability of picking an orange sweet from this bag is 0.103.
How many orange sweets are in the bag?

lﬂ H’\L oin iastesd hed o P(b\oﬂ%\'(.lh oc ‘lj Dg Gslh\'fs
wp Toils ) e vweld exgeck it b hoggen Y of 330

= 0 Xmes. Folmd M Some logic, buk insteed of
l:’,, use the (ochen YU wocked ouk in (4.
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Question 11

The graph shows the distance covered by a cyclist for 6 seconds.

/ZUO Sroehvk here

*9 / Means the SPUA

/ Zeco ok WS Xime

Distance s ! L(

(m)

0 1 2 3 - 5 6

Time (s)

(a) Estimate the speed of the cyclist at the moment she had travelled 5 metres.

5 qpodick of

distance - hme oxrve

(b) Here are four sketches of speed-time graphs. Circle the sketch that represents the cyclist’s speed
during the six-second period shown above.

Speed Speed Speed Speed
(m/s) (m/s) (m/s) (m/s)
Time (s)

Time (s) Time (s) Time (s)
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Question 12

The diagram shows pentagon. Various angles are marked on the diagram.
Show that the ratio of the pentagon’s largest interior angle to its smallest interior angle is 5 : 3

250° The inkerior o‘ﬂ'u of
‘ an N-sded pRygee
285° add W o \eo(a-2)
' , oc \80a -3

ia

Question 13

There are two biscuit tins. Each tin contains a mix of chocolate biscuits and plain biscuits.
The ratio of chocolate biscuits to plain biscuits in the first tin is 3 : 7

The ratio of chocolate biscuits to plain biscuits in the second tin is 4 : 1.

Enda picks at random one biscuit from each tin.

Work out the probability that Enda picks two chocolate biscuits.

P(pic\cl«\J dhocslake Coon the Girgk 'ﬂ'\) = %

P(picklf\J d\ocﬁ\&\‘ﬁ C‘ﬁs« the second 1’"\) = ...

P(pic\(:t\J chocelate Cosnr bolbhn Has)
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Question 14
This triangle has area \/7<: cm”. Find the value of k.

hyP sn(39) = P
o ofp = < \"39
30° ]_
aA& =
T () opp = )

e Area = %_x\auSex \1&&5\&
= 1xadyx <P

so m‘{):

Question 15

An aluminium alloy has a density of 3 g/cm®.
A cube of mass 375 g is made of this aluminium alloy.

Work out the side length of the cube.
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Question 16

This cumulative frequency graph shows information about the heights, in cm, of rowers at a rowing
club.

Cumulative
frequency
80
b < x>
70
60 3
st 74
50
40 2t
% 7
30
20 >
14 W \'Z
10 Y
0 »
160 170 @ 1s0sn. @ 190 200
Height (cm)

1ak e

Work out an estimate for the interquartile range of heights of the rowers.
hee ae F0 rcoess in Mool -

76
Sl L
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Question 17
OAD and OBC(C are sectors of circles with centre O.

The points O, A, and B lie on a straight line. Similarly, the points O, D, and C'lie on a straight
line.

OB has length 13 cm and OD has length 12 cm.

&
3

04
gD

Find, in terms of z, the shaded area ABCD in cm’.

72 149

?('l'\')(\3 ~ 35

W

hees of gocor OBC

hren o godee ORN = 2 XWX

Sluled scen ABCD = @“ _

"
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Question 18

z+2 z+3
(a) — can be written in the form
z—1 FEE 2+

, where a and b are integers.

Work out the values of a and b.

Rewsrite e (lrod%et\s [ M hove & Commen
denominakor — in Muis cate  (x-1)(er)

RIS NN O (25
(- () (- (ert)

1002 1003
999 1001

SU»\JS\"\\'\»&Q, X = \&0 \nko Y onswes Yo CQ)

(b) Hence, or otherwise, work out
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Question 19

The diagram shows the points, X, Y, and Z.

The vector XZ = -a - 5b
The vector YZ = 4a - 3b

@ is the point on XY such that X@Q: QY =5:1

Find the vector Z(@ in terms of a and b.

—= —

-
1= ARZ + 2¥
-0 -Sb + hLa+t3b

1
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Question 20

(a) The point A has coordinates (7, 3). Given that A lies on the circle with equation 2* + 3 = k,
find the value of £.

_42}317\4 so K=

ﬂ- : @)
NI

(b) Find the equation of the tangent to the circle at A, giving your answer in the form y = mz + ¢

_T\\c ICCN\&UJC \S ?er?epo\ic,m\ﬂ' \‘D Yo FoAi% o& (_‘7)2)
The Codivs hog grodienk

e tis o Rk b grodionk of Mhe eegerk

" From here, thee ae o womple of L ko togleke
bhe gmeshien.
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